

THREE VILLAGE CENTRAL SCHOOL DISTRICT STONY BROOK, NEW YORK

BOARD OF EDUCATION AGENDA MATERIALS

DATE OF BOARD MEETING: July 10, 2019

DATE SUBMITTED: July 3, 2019

OFFICE OF ORIGIN: District Clerk

CATEGORY OF ITEM: Action

TITLE: MINUTE

MINUTES OF JUNE 19, 2019

Staff Recommendation:

Be it RESOLVED that the Board of Education accept the minutes of the meeting listed, as presented.

NOT AN OFFICIAL RECORD; SUBJECT TO CHANGE

THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION JUNE 19, 2019

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on June 19, 2019 at 6:00 p.m.

Members present:

William F. Connors Jr., President Irene Gische, Vice President Deanna Bavlnka, Trustee Inger Germano, Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee Angelique Ragolia, Trustee

Members absent:

All were present

Also present:

Cheryl Pedisich, Superintendent

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Lauren Walters, Student Representative to the Board

Visitors

CALL TO ORDER Mr. Connors called the meeting to order at 6:00 p.m.

MOVE INTO EXECUTIVE SESSION

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss the employment history of a particular person(s) and current litigation.

RECONVENE INTO PUBLIC SESSION

The meeting reconvened into open session at 7:35 p.m. Mrs. Pedisich led the pledge of allegiance.

CHANGES IN THE MEETING AGENDA

Replacement Pages

- Item V.1 Instructional Personnel Cover Page, Schedules A.2 and A.5
- Item V.2 Non-Instructional Personnel Cover Page and Schedule B.6

Addenda

 Item U.1 – Approval of the Memorandum of Agreement Between the Three Village Central School District and the Three Village Substitute Teachers Association

ě

Item V.2 - Non-Instructional Personnel - Schedule B.5

Deletion

Item V.1 – Instructional Personnel - Schedule A.1

STUDENT AND STAFF RECOGNITION

Gelinas Science Olympiad, Ward Melville High School Science Olympiad, and International Science and Engineering Fair students were recognized.

Lauren Walters was recognized for her work as the Student Representative to the Board of Education for the 2018-2019 school year.

Mrs. Gische was recognized for being named a recipient of the Brookhaven Youth Volunteer award.

Board Members Germano, Gische, Kerman, Kornreich and Ragolia were recognized for receiving NYSSBA training level awards.

Tenure Recognition Newly Tenured staff members were recognized and a brief reception was held in their honor

PUBLIC PARTICIPATION

There was no Public Participation at this time.

REPORTS

Student Representative Report Lauren Walters reported on recent and upcoming student events and introduced Sarah Thornton as the Student Representative for 2019-2020.

MINUTES AND BIDS

Minutes of May 8 and 21, 2019

Be it RESOLVED that the Board of Education accept the minutes of the meetings listed, as presented.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented

Number B20-001

- Tree
Trimming/Remova
l; B20-002 Rental/Service of
Treated Dust
Mops; B20-003 -

Pest Management

Bids - Bid

Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education award the following bid, as presented:

 Bid Title
 Awarded Vendor
 Bid Number

 Tree Trimming/ Removal
 Conservation Control Copp.
 B20-001

Be it further RESOLVED that the Board of Education reject bid numbers B20-002 and B20-003 for Rental/Service of Treated Dust Mops and Pest Management, respectively.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented

ITEMS FOR BOARD DISCUSSION There were no Items for Board Discussion.

ITEMS FOR BOARD ACTION

Revision to 2018-2019 Approval for Committees on Special Education Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the attached list that includes the addition of a Districtwide Subcommittee on Special Education Chairperson for the 2018-2019 school year.

Committees on Special Education - 2019/2020

The Committee on Special Education will be composed of:

Chairpersons

James Geis, Supervisor of PPS - (LEA)

Dawn Mason, Executive Director of Pupil Personnel Services – (LEA) Laurance Marino, Assistant Director of Pupil Personnel Services – (LEA) Maureen Reyes, Coordinating Chairperson of Special Education – (LEA)

Mary Lynch, Psychologist – (LEA)

Lolita Portal-Pfeffer, Psychologist – (LEA) Lauren Rebore, Psychologist – (LEA)

Jose Salazar, Psychologist – (LEA)

Heather Salas, Psychologist – (LEA) Lauri Levenberg, Speech/Language Pathologist – (LEA)

Elizabeth Forese, Special Education Teacher -- SEIST -- (LEA)

Dawn Alexander, Special Education Teacher -- (LEA)

Psychologists

Mary Lynch Lolita Portal-Pfeffer
Jose Salazar Heather Salas
Laurance Marino Lauren Rebore
Kelly McCabe-Fitch Jennifer Stevens

Michelle Lambert Kelly Sullivan Melanthi Parpas Nicole Nickerson

Nina Franza

Parent Members CSE K-12 (with notice)

Debra Saunders
Gia Brennan
Debra Bowling
David Okrent

Sandra Miller
Ann Fitzmaurice
Karen Roughley

Physician

Dr. Howard Sussman

Parent of the Child

. Special Education Teacher or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

whenever appropriate, the student with a disability

Districtwide Subcommittees on Special Education - 2019/2020

District-wide building subcommittees on special education will be chaired by:

James Geis, Heather Salas, Laurance Marino, Maureen Reyes, Mary Lynch, Lauri Levenberg, Lolita Portal-Pfeffer, Liz Forese, Cindy Perotta, Rene LaScala, Eleni Homenides, Chris Murphy, Jose Salazar, Kelly McCabe, Virginia McCaffrey, Dawn Mason, Jennifer Stevens

Building Subcommittees on Special Education - 2019/2020

Subcommittees on Special Education will be composed of:

Arrowhead Elementary School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Eleni Homenides, Chairperson (Alternates: Jill Williams, Chris Murphy, Rene LaScala, Cindy

Jennifer Stevens, Psychologist (Alternates: Michelle Lambert, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Mary Lynch, Heather Salas, Kelly McCabe, Lolita Portal-Pfeffer, Nicole Nickerson, Melanthi Parpas, Nina Franza)

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

Mount Elementary School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Jill Williams, Chairperson (Alternates: Eleni Homenides, Chris Murphy, Rene LaScala, Cindy Perrotta)

Michelle Lambert, Psychologist (Alternates: Nicole Nickerson, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Mary Lynch, Heather Salas, Kelly McCabe, Lolita Portal-Pfeffer, Melanthi Parpas, Jennifer Stevens, Nina Franza)

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

Minnesauke Elementary School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Cindy Perrotta, Chairperson (Alternates: Jill Williams, Chris Murphy, Rene LaScala, Eleni

Nina Franza, Psychologist (Alternates: Michelle Lambert, Nicole Nickerson, Kelly Sullivan, Laurance Marino, Jose Salazar, Mary Lynch, Heather Salas, Kelly McCabe, Lolita Portal-Pfeffer, Melanthi Parpas, Jennifer Stevens, Lauren Rebore)

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

Nassakeag Elementary School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Rene LaScala, Chairperson (Alternates: Jill Williams, Chris Murphy, Eleni Homenides, Cindy

Nicole Nickerson, Psychologist (Alternates: Michelle Lambert, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Mary Lynch, Heather Salas, Kelly McCabe, Lolita Portal-Pfeffer, Melanthi Parpas, Jennifer Stevens, Nina Franza)

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

Setauket Elementary School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Eleni Homenides, Chairperson (Alternates: Jill Williams, Chris Murphy, Rene LaScala, Cindy Perrotta)

Melanthi Parpas, Psychologist (Atternates: Michelle Lambert, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Mary Lynch, Heather Salas, Kelly McCabe, Lolita Portal-Pfeffer, Nicole Nickerson, Jennifer Stevens, Nina Franza)

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

Gelinas Junior High School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson (Alternates: Maureen Reyes, Dawn Mason)

Lauri Levenberg, Chairperson

Kelly McCabe, Chairperson/Psychologist

Alternate Psychologists: Michelle Lambert, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Mary Lynch, Heather Salas, Melanthi Parpas, Lolita Portal-Pfeffer, Nicole Nickerson, Jennifer Stevens, Nina Franza

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

Murphy Junior High School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Lauri Levenberg, Chairperson

Laurance Marino, Chairperson (Alternates: Maureen Reyes, Dawn Mason)

Lolita Portal-Pfeffer, Chairperson/Psychologist

Alternates Psychologists: Michelle Lambert, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Mary Lynch, Heather Salas, Kelly McCabe, Melanthi Parpas, Nicole Nickerson, Jennifer Stevens, Nina Franza

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

Ward Melville High School

James Geis, Chairperson

Laurance Marino, Chairperson

Dawn Mason, Chairperson

Mary Lynch, Chairperson

Virginia McCaffrey, Chairperson (Alternates: Heather Salas, Maureen Reyes)

Jose Salazar, Chairperson/Psychologist (Alternates: Heather Salas, Laurance Marino, Lolita Portal-Pfeffer, Mary Lynch, Kelly McCabe)

Heather Salas, Chairperson/Psychologist (Alternates: Mary Lynch, Jose Salazar, Laurance Marino, Lolita Portal-Pfeffer, Kelly McCabe)

Alternate Psychologists: Kelly Sullivan, Nina Franza

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

Three Village Academy

James Geis, Chairperson (Alternate: Maureen Reyes, Laurance Marino)

Mary Lynch, Chairperson/Psychologist (Alternates: Heather Salas, Laurance Marino, Lolita Portal-Pfeffer, Kelly McCabe, Jose Salazar)

Parent of the Child

Special Education Teacher and/or Related Service Provider of such Student

Regular Education Teacher of such Student (if student is or may be participating in regular education)

Whenever appropriate, the student with a disability

Committees on Preschool Special Education 2019/2020

The Committee on Preschool Education will be composed of the following:

Chairpersons

Lauri Levenberg, Chairperson (Alternates: Mary Lynch, James Geis, Maureen Reyes, Rene

LaScala)

James Geis, Chairperson

Rene LaScala, Special Education Teacher

Maureen Reyes, Coordinating Chairperson for Special Education

Parent of the Child

Parent Members - CPSE

Eva Carceles Tricia Sangiorgi Marilyn Eilenberger

Jennifer Harmon

Special Education Teacher or Related Service Provider of such student

Regular Education Teacher of such student (if student is or may be participating in regular education)

If applicable, a certified or licensed professional designated by the agency charged with the responsibility for the child in the "birth to two" system must attend

A professional who participated in the evaluation of the child or a professional employed by the district who is knowledgeable about evaluations

Whenever appropriate, the student with a disability

An appropriate, certified/licensed professional from the municipality

On motion by Mr. Komreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorize Participation in Cooperative Bids for Cafeteria and Food Supplies

Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the attached resolution authorizing participation in cooperative bids for cafeteria and food supplies for the Child Nutrition Program for the 2019-2020 school year and that the President of the Board of Education be authorized to execute same.

Be it further resolved that the Board of Education authorize the purchase of cafeteria and food supplies, as needed, and award the vendors for these purchases pursuant to the contracts presented through the Long Island School Nutrition Directors' Association's co-op bids, as attached.

On motion by Dr. Kerman, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Health and Welfare Services Contract

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the contract for health and welfare services for the 2018-2019 school year with the following school district:

Brentwood UFSD 5 Students @ \$566.18 = \$2,830.90

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Contract with Outside Service Provider for Special Educational Services

Approval of Addendum to

Contract with

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the Consultant Services Contract for special educational services for the 2019-2020 school year with the following provider:

Heather C. Davidson, AuD, CCC-A

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools, be it resolved that the Board of Education approve the attached addendum to the previously approved Consultant Services Contract for special educational services with the following provider:

Outside Service Provider for The Center for Discovery Special Educational Services

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approve Continuing Education Program Course Pricing for 2019-2020 Upon recommendation of the Superintendent of Schools be it resolved that the Board of Education approve an increase in the Continuing Education Program course pricing rates, as per attached, for the 2019-2020 school year.

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Transportation Services Upon recommendation of the Superintendent of Schools be it hereby resolved that the Board of Education extend transportation contracts for the 2019-20 school year to Suffolk Transportation Service, Inc. as follows:

Contract #	Amount
1B Large buses	\$5,100,797.44
3 - Athletic Trips	\$ 304,317.00
4 – Field Trips	\$ 142,064.00

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Transportation Contract Extension Acme Bus Corp. Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the existing agreement with ACME Bus Corp. for the provision of pupil transportation be extended for an additional one year period commencing July 1, 2019 through June 30, 2020, with an increase of 1.5% from 2018-2019.

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Establish a Retirement Contribution Reserve Sub-Fund WHEREAS, the Three Village Central School District participates in the New York State Teachers' Retirement System ("TRS"); and

WHEREAS, the Board of Education of the Three Village Central School District by resolution established a Retirement Contribution Reserve Fund known as the Retirement Contribution Reserve Fund pursuant to Section 6-r of the General Municipal Law; and

WHEREAS, the Board of Education has determined it is also appropriate to establish a sub-fund within said Retirement Contribution Reserve Fund pursuant to Section 6-r of the General Municipal Law.

NOW THEREFORE, BE IT RESOLVED, by the Board of Education of the Three Village Central School District, pursuant to Section 6-r of the General Municipal Law, as follows:

- The Board hereby establishes a sub-fund within the Retirement Contribution Reserve
 Fund to be known as the Three Village Central School District Retirement Contribution
 Reserve Sub-Fund:
- 2. The source of funds for this Reserve Sub-Fund shall be:
 - such amounts as may be provided therefore by budgetary appropriation or raised by tax therefore;
 - such revenues as are not required by law to be paid into any other fund or account:
 - such other funds as may be legally appropriated; and
 - d. notwithstanding any law to the contrary, such amounts as may be transferred from a reserve fund established pursuant to Section 6-c, 6-d, 6-e, 6-f or 6-g of Article 2 of the General Municipal Law, comprised of moneys raised from the same tax base as the moneys in the retirement contribution reserve fund, or a reserve fund established pursuant to Education Law Section 3651, provided that any such transfer shall only be made by Board resolution adopted after a public hearing held on at least 15 days prior notice published in at least one newspaper having general circulation in the District.
- 3. By resolution, the Board of Education may authorize expenditures from this Reserve Sub-Fund. Except as otherwise provided by law, moneys in this Reserve Sub-Fund may only be appropriated to finance retirement contributions to the New York State Teachers' Retirement System, and/or to offset all or a portion of the amount deducted from the moneys apportioned to the District from the State for the support of schools pursuant to Section 521 of the Education Law.
- 4. No member of the Board of Education or employee of the District shall:

- a. authorize a withdrawal from this Reserve Sub-Fund for any purpose except as provided in Section 6-r of the General Municipal Law; or
- expend any money withdrawn from this Reserve Sub-Fund for a purpose other than as provided in Section 6-r of the General Municipal Law.
- 5. The moneys contributed annually to the Reserve Sub-Fund shall not exceed 2% of the total compensation or salaries of all teachers (as that term is defined in Education Law §501[4]) employed by the District who are members of TRS paid during the immediately preceding fiscal year.
- 6. The balance of the Reserve Sub-Fund shall not exceed 10% of the total compensation or salaries of all teachers (as that term is defined in Education Law §501[4]) employed by the District who are members of TRS paid during the immediately preceding fiscal year.
- 7. The moneys in this Reserve Sub-Fund shall be deposited and secured in the manner provided by Section 10 of the General Municipal Law. The Board of Education or its authorized designee may invest the moneys in this Reserve Sub-Fund in the manner provided by Section 11 of the General Municipal Law. Any interest earned or capital gain realized on the money so deposited or invested shall accrue to and become part of this Reserve Sub-Fund.
- 8. The chief fiscal officer shall account for this Reserve Sub-Fund separate and apart from all other funds of the District. Such accounting shall show: the source, date and amount of each sum paid into the sub-fund; the interest earned by such sub-fund; capital gains or losses resulting from the sale of investments of this sub-fund; the order, purpose thereof, date and amount of each payment from this sub-fund; the assets of the sub-fund, indicating cash balance and a schedule of investments. The chief fiscal officer, within sixty (60) days of the end of each fiscal year, shall furnish a detailed report of the operation and condition of this sub-fund to the Board of Education.
- 9. This Resolution shall take effect immediately.

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Donations

Upon the recommendation of the Superintendent of Schools be it resolved that the Board of Education accept with gratitude the following:

- A check in the amount of \$8,000 from Society for Science & the Public to
 Three Village CSD in recognition of our 4 scholars in the Regeneron
 Science Talent Search 2019, to be used to further support excellence in
 science, math and engineering education at WMHS. It will be deposited
 into the 9/11 Scholarship Fund Account #TE092.09.
- A check donated by Sterling Bank in the amount of \$250.00 to be used for student scholarships at our Senior Awards Night on June 12, 2019. This check will be deposited into the WMHS Scholarship Fund TE092.11.
- A check donated by the Ward Melville Guidance Department in the amount of \$250.00 to be presented to a student at Senior Awards Night on June 12, 2019 who has met the criteria for the Guidance Recognition Award.
- A check in the amount of \$2,260.00 donated by the Setauket PTA for various BOCES Arts in Education programs for Setauket ES students.
- A Minnesauke PTA Teacher Grant donation check in the amount of \$165.00 for the purchase of materials to construct cedar planter boxes outside of Minnesauke ES.
- A check in the amount of \$12,969.05 donated by the Setauket PTA to pay for the revitalization of the courtyard at Setauket ES.
- A check in the amount of \$3,000.00 donated by the Three Village STEM Enrichment Foundation to cover the cost of additional Science Olympiad practices.
- A scholarship check in the amount of \$4,000.00 from Suffolk Transportation Service, Inc. in recognition of Section XI champions boys & girls swimming and boys & girls fencing.

- A check in the amount of \$50.00 donated by Ms. Linda Fear to the Jody Eff Scholarship, Fund account #TE092.03.
- A check in the amount of \$1,000.00 donated by the LI Community Foundation/Matthew Grimaldi Memorial Fund to the WMHS Scholarship Fund (TE092.11) for a graduating senior.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Equipment Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the items listed on file in the office of the District Clerk be declared surplus and disposed of in the best interest of the Three Village Central School District.

On motion by Ms. Ragolia, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Claims Auditor's Report – April 2019 Mr. Carlson presented the report.

On motion by Mr. Kornreich, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

District
Treasurer's Report
- April 2019

Mr. Carlson presented the report.

On motion by Mr. Kornreich, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Financial Reports
- April 2019

Mr. Carlson presented the report.

On motion by Mr. Kornreich, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Extraclassroom Activity Treasurers' Reports - April 2019 Mr. Carlson presented the report.

On motion by Mr. Kornreich, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Transfer of Funds (Under \$10,000) -April 2019

Mr. Carlson presented the report.

On motion by Mr. Kornreich, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Resolution Abolishing Positions and Terminating Employees with Least Seniority RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby abolishes the subsequent positions in the following Teaching Assistant and Special Education Aide job titles, for the purposes of economy and efficiency:

Job Title	No. of Positions
Teaching Assistant Special Education	2.0 7.0

Be it FURTHER resolved, the employment of the aforementioned employees having the least seniority in the District, shall be discontinued, effective July 1, 2019. The following employees are hereby excessed:

Name .	<u>Job Title</u>	FTE excessed
Romi Fontana-Daguerre	Teaching Assistant	1.0
Jennifer Dunn	Teaching Assistant	1.0
Mary Carpenter	Special Education Aide	1.0
Marianne Couto	Special Education Aide	1.0
Nicole Hurtado	Special Education Aide	1.0
Tara Kordic	Special Education Aide	1.0
Chaira LaRocca	Special Education Aide	1.0
Stephanie McDowell	Special Education Aide	1.0
Taylor Rubino	Special Education Aide	1.0

On motion by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Stipulation of Agreement and Be it RESOLVED that the Stipulation of Agreement and Release between the Three Village Central School District and the employee named in confidential schedule "A" is hereby approved; and the Board President is authorized to execute the same.

Release Between the Three Village Central School District and the Employee Named in confidential Schedule "A"

On motion by Ms. Germano, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of the Memorandum of Agreement Between the Three Village Central School District and the Three Village Substitute Teachers Association

RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the Three Village Substitute Teachers Association contract expiring June 30, 2017, to remain in effect except where modified by the attached Memorandum of Agreement for the term of July 1, 2017 through June 30, 2022.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 6-0-1 vote with Dr. Kerman abstaining, the Board approved the resolution as presented.

Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

RESIGNATIONS

<u>Name</u>	School/ Assignment	Effective Date	Date of Hire
Bottiglieri, Jenifer	Murphy JHS/Science Teacher	6/30/19 .	8/30/18
Casino, Selena	Ward Melville HS/ Teaching Assistant	6/14/19	8/30/18
Loddigs, Scott	Ward Melville HS/ Physical Education Teacher	6/30/19	9/29/97
Melore, Peter	District-wide/ Executive Director of HPERA	7/19/19	12/1/15
Perrotta, Cindy	District-wide/ Instructional Consultant	6/30/19	1/12/05

LEAVES OF ABSENCE

Name	School/ Assignment	Effective	Reason	<u>Tenured</u>
Kutchma, Andrew	Arrowhead/ Teaching Assistant	2/24/20 - 4/3/20	Unpaid	No
Zambito, Caitlin	Ward Melville HS/ Teaching Assistant	9/3/19 - 12/20/19	Unpaid	No

APPOINTMENT TO ADMINISTRATOR POSITONS

Finnerty, Kevin

Acting Executive Director of HPERA Plymouth State University – BS Hofstra University – MS, SBL/SDL Previous Tenure – Yes Related to current employee – No Salary: \$173,000 Effective: 7/1/19 – 6/30/20

This is a one-year appointment, effective 7/1/19 – 6/30/20. This appointment is due to the resignation of Peter Melore. Mr. Finnerty will be assigned District-wide for the 2019-20 school year. Mr. Finnerty is currently working in the District and fingerprint clearance for employment is on file.

Levine, Heather

Principal SUNY Binghamton – BS St. John's University – MS College of St. Rose – SBL/SDL Previous Tenure – Yes Related to current employee – No Salary: \$145,000 (pro-rated) Effective: 7/8/19

This is a four-year probationary appointment with an anticipated tenure date of 7/8/23. This appointment is due to the retirement of Gail Casciano. Ms. Levine will be assigned to Nassakeag Elementary School for the 2019-20 school year. Fingerprint clearance for employment has been received.

Perrotta, Cindy

Assistant Principal
St. Joseph's College – BA
Long Island University – MS
SUNY Stony Brook – SBL/SDL
Previous Tenure – Yes

Related to current employee - No

Salary: \$118,480 Effective: 7/1/19

This is a four-year probationary appointment with an anticipated tenure date of 7/1/23. This appointment is due to the reassignment of Nancy Pickford. Ms. Perrotta will be assigned to Nassakeag Elementary School for the 2019-20 school year. Ms. Perrotta is currently working in the District and fingerprint clearance for employment is on file.

New Probationary Administrators:

All probationary appointments made on or after July 1, 2015 are subject to the new four-year probationary period. In order to be eligible for tenure, an individual receiving a probationary appointment as a classroom teacher or building principal must receive annual composite or overall APPR rating of H or E in the last three of the four preceding years, and if the individual receives a rating of I in the final year of the probationary period, he or she will not be eligible for tenure at that time.

AMENDMENTS TO INSTRUCTIONAL POSITIONS

Fitzsimons, Judith

Part-time Permanent Substitute Teacher

80% Position

St. John's University - BA, MS

Previous Tenure -- No

Related to current employee – No Salary: Step 5 Level BA - \$61,641 x .8 =

\$49,312

Effective - 8/28/19 - 6/26/20

This is to revise Ms. Fitzsimons Salary. Ms. Fitzsimons was previously approved at the Board of Education meeting held on June 5, 2019.

Gonzalez, Adriana

One-year, Part-time Foreign Language Teacher

40% Position

La Salle University – BA SUNY Stony Brook – MA Previous Tenure – No

Related to current employee - No Salary: Step/Level: 1/MA \$62,387 x .4 =

\$24,955

Effective: 8/28/19 - 6/30/20

This is a one-year, part-time (.4) appointment. This appointment is due to staffing reduction. Ms. Gonzalez will be excessed at the Board of Education meeting held on June 19, 2019. Ms. Gonzalez will be assigned (.4) Ward Melville High School for the 2019-20 school year. Fingerprint clearance for employment is on file.

Randazzo, Dianna

Social Worker

University of Pennsylvania – BA Hunter College – MSW Previous Tenure – No

Related to current employee - No Salary: Step/Level: 1/MA Effective - 8/28/19

This is a four-year probationary appointment with an anticipated tenure date of 8/28/23. This appointment is due to the reassignment of Debbi Rakowsky. Ms. Randazzo will be assigned to Ward Melville High School for the 2019-20 school year. Fingerprint clearance for employment has been received

Schneider, Kerry

Part-time Permanent Substitute Teacher

80% Position

St. Joseph's College – BA Previous Tenure – No

Related to current employee - No

Salary: Step 5 Level BA - \$61,641 x .8 = \$49,312

Effective - 8/28/19 - 6/26/20

This is to revise Ms. Schneider's Salary/Step. Ms. Schneider was previously approved at the Board of Education meeting held on June 5, 2019.

New Probationary Teachers:

All probationary appointments made on or after July 1, 2015 are subject to the new four-year probationary appointments made on or after July 1, 2015 are subject to the new four-year probationary period. In order to be eligible for tenure, an individual receiving a probationary appointment as a classroom teacher or building principal must receive annual composite or overall APPR rating of H or E in the last three of the four preceding years, and if the individual receives a rating of I in the final year of the probationary period, he or she will not be eligible for tenure at that time.

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

Substitute Teachers

Burger, Susan

Ms. Burger is retiring effective 6/30/19 and has asked to be on the substitute teacher list for the 2019-2020 school year.

Fingerprint clearance is on file.

Casino, Selena

Fingerprint clearance is on file.

Harnedy, Amanda

Fingerprint clearance has been received.

Lauri, Debbie

Ms. Lauri is retiring effective 6/30/19 and has asked to be on the substitute teacher list for the 2019-2020 school year.

Fingerprint clearance is on file.

Marcucci, Paul

Mr. Marcucci was approved for emergency appointment by Ms. Pedisich to being working as a substitute teacher on 6/3/19.

Fingerprint clearance has been received

McManus, Patrick

Mr. McManus is retiring effective 6/30/19 and has asked to be on the substitute teacher list for the 2019/2020 school year.

Fingerprint clearance is on file.

Swain, Christine

This position is contingent on fingerprint clearance.

Substitute Teaching Assistants

Casino, Selena

Fingerprint clearance is on file.

Lorenzen, Hannah

Fingerprint clearance is on file.

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

Last Name	First Name	Building	Activity	Effective	Rate	Not to Exceed
*Rupe	Alison	WMHS	Students United in Faith Club, Co-Advisor	1/1/19- 6/26/19	\$647.40	\$647.40
*Sheikh	Rizwana	WMHS	Muslim Student Association Co- Advisor	1/1/19- 6/26/19	\$647.40	\$647.40

^{*}Ms. Sheikh and Ms. Rupe were approved for club stipends on the 12/12/18 agenda. This is to correct the club names for each, which were reversed.

*Hurley	Terri	WMHS	Prom 2019	2018-2019	\$5,504.25	\$5,504.25
*Marra	Julianne	WMHS	Prom 2019	2018-2019	\$1,834.75	\$1,834.75

^{*} Ms. Hurley and Ms. Marra were approved to be co-advisors for the Prom 9/5/18. Ms. Marra worked for the first half of the year only. Ms. Hurley took on Ms. Marra's duties for the second half of the year.

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

Last Name	<u>First</u> <u>Name</u>	Building	Assignment	Effective *	Stipend	Not to Exceed
Pelosi	Andrew	WMHS	Lead Social Studies Teacher-	2019-2020	\$2,769.00	\$2,769.00
Canestro	Andrea	WMHS	6th Year Lead Math Teacher- Transitional- 3rd	2019-2020	\$2,769.00	\$2,769.00
Olsen	Walter	WMHS	Year Naviance Lead Teacher- 2nd	2019-2020	\$2,769.00	\$2,769.00
Kula	Mamie	WMHS	Year In-Star Coordinator- 4th Year	2019-2020	\$2,180.00	\$2,180.00
Hanczor	Michelle	Gelinas .	English Lead- Transitional -2nd	2019-2020	\$2,769.00	\$2,769.00
Cordina	Jacqueline	Gelinas	Year Math Lead- Transitional- 1st Year	2019-2020	\$2,769.00	\$2,769.00
Dattero	Anthony	Gelinas	Lead Guidance Counselor- 10+ Years	2019-2020	\$4,842.00	\$4,842.00
Jenkins	Nancy	Gelînas	Naviance Lead- 4th Year	2019-2020	\$2,597.00	\$2,597.00
*Jenkins	Nancy	Gelinas	Secondary Family & Consumer Science Lead-	2019-2020	\$2,421.00	\$2,421.00
*Jenkins	Nancy	Murphy	10+ Years Secondary Family & Consumer Science Lead- 10+ Years	2019-2020	\$2,421.00	\$2,421.00
*Ms. Jenkins'	stipend of \$4	,842 wiil be split	between Gelinas and	Murphy.		
Poulos	Amy	Murphy	Lead Guidance Counselor- 6th Year	2019-2020	\$2,421.00	\$2,421.00
Nachtigall	Dawn	Murphy	Science Lead- Transitional- 1st Year	2019-2020	\$2,769.00	\$2,769.00
Portal- Pfeffer	Lolita	Muiphy	Lead Psychologist- 4th Year	2019-2020	\$2,769.00	\$2,769.00
McCabe	Kelly	Gelinas	Lead Psychologist- 2nd Year	2019-2020	\$2,769.00	\$2,769.00
McCaffery	Virginia	WMHS	Special Education Lead Teacher- 5th Year	2019-2020	\$3,806.00	\$3,806.00
Lynch	Mary	Academy	Lead Psychologist- 10+ Years	2019-2020	\$4,842.00	\$4,842.00
Knox	Betsy	District	Lead Librarian- 9th Year	2019-2020	\$3,806.00	\$3,806.00
Weik	Andrew	District	Lead Instructional Technology Teacher- 5th Year	2019-2020	\$2,769.00	\$2,769.00
Ruben- strunk	Deidre	District	Lead Instructional Technology Teacher- 4th Year	2019-2020	\$2,769.00	\$2,769.00
Connolly	Erin	WMHS	Administrative Supervision	6/12/19- 6/21/19	\$1,000.00	\$1,000.00
Kost .	Maureen	WMHS	Administrative Supervision	6/12/19- 6/21/19	\$1,000.00	\$1,000.00
Dowling	Sean	Minnesauke	Lead STEM Teacher	2019-2020	\$1,732.00	\$1,732.00
Sacco .	Christine	Nassakeag, Mount, Setauket, Arrowhead & Minnesauke	Elementary Lead Art Teacher	2019-2020	\$2,769.00	\$2,769.00

		i					
Seligson	Lisa	Setauket	Lead Reading	2019-2020	\$2,597.00	\$2	,597.00
Arasa	Theresa	Minnesauke	Teacher Lead Reading	2019-2020	\$2,597.00	\$2	.597.00
Maaiki	Nancy	Arrowhead	Teacher Lead Reading	2019-2020	\$2,597.00	\$2	,597.00
Prinzevalli	Rachel	Mount	Teacher Lead Reading Teacher	2019-2020	\$2,597.00	\$2	,597.00
Curatolo	Мола	Nassakeag	Lead Reading Teacher	2019-2020	\$2,597.00	\$2	,597.00
			reaction				
Zeidman	Stacey	Academy	Class Advisor	2019-2020	\$3,450.00	\$3	,450.00
Lamiroult	Brenda	District	District Teacher Mentor	2019-2020	\$4,842.00	\$4	,842.00 .
Регту	Leanne	District	District Teacher Mentor	2019-2020	\$2,769.00	\$2	,769.00
Alexander	Dawn	District	Districtwide PPS Mentor	2019-2020	\$2,769.00	\$2	,769.00
Hurowitz	Tanya	Агтоwhead	Kindergarten Screening Coordinator	2019-2020	\$1,500.00	\$1	,500.00
Arasa	Theresa	Minnesauke	Elementary Book Room	2019-2020	\$3,208.00	\$3	,208.00
Brady	Judy	Setauket	Coordinator Elementary Book Room	2019-2020	\$3,208.00	\$3	,208.00
Burdette	Nicote	Mount	Coordinator Elementary Book Room	2019-2020	\$3,208.00	\$3	,208.00
Cohen	Jessica	Nassakeag	Coordinator Elementary Book Room	2019-2020	\$3,208.00	\$3	,208.00
Walsh	Daniel	Arrowhead	Coordinator Elementary Book Room Coordinator	2019-2020	\$3,208.00	\$3	,208.00
Trettner	Jennifer	District-wide	CTE Coordinator	2019-2020	\$2,500.00	\$2	,500.00
			APPOINTMENT LY EXTRA ASS				
					.		N
<u>Last Name</u>	First Name	<u>Building</u>	<u>Assignment</u>	Effec- tive	Rate	<u>Hours</u>	Not to Exceed
McGuire	Susan	Мигрһу	Science Olympiad Sat/Holiday	11/1/18- 6/1/19	\$43.61	12	\$523.32
Angenneier	Derek	Murphy	Practice Science Olympiad Sat/Holiday	11/1/18- 6/1/19	\$43.61	12	\$523.32
Pahuja	Pamila	Murphy	Practice Science Olympiad Sat/Holiday	11/1/18- 6/1/19	\$43.61	12	\$523.32
Porter	Cynthia	WMHS	Practice NYS Forensic League State Championship	4/6/19- 4/7/19	\$43.61	8 .	\$348.88
Ouzounian	Marisa	Gelinas	Tournament Science Olympiad, additional	2018-2019	\$43.61	7	\$305.27
Tunkel	Vincent	WMHS	hours Jazz Loft Concert Chaperone	6/10/2019	\$43.61	3.5	\$452.64
Diehl	John	WMHS	ACT/SAT/SA T II Test	2019-2020	\$50/hr	150	\$6,000.00
Mirabella	Christine	WMHS	Coordinator SAT/ACT Test Coordinator	2019-2020	\$50/hr	150	\$6,000.00
Bard	Lori	Setauket	Kindergarten Grade Level	. Јал Мау 2019*	\$49.07/hr	10	\$490.70
Kane	llene	Setauket	Meeting Kindergarten Grade Level	Jan May 2019*	\$49.07/hr	01	\$490.70
Costanza	Caroline	Setauket	Meeting Kindergarten Grade Level Meeting	Jan May 2019*	\$49.07/hr	8	\$392.56

D'Onofrio	Adrienne	Setauket	Kindergarten Grade Level	Jan May 2019*	\$49.07/hr	8 .	\$392.56
Freeman	Kelly	Setauket	Meeting Kindergarten Grade Level	Jan, - May 2019*	\$49.07/hr	8	\$392.56
Gunning	Michelle	Setauket	Meeting Kindergarten Grade Level	Jan May 2019*	\$49.07/hr	8	\$392.56
Levy	Danielle	Setauket	Meeting Kindergarten Grade Level	Jan May 2019*	\$49.07/hr	8	\$392.56
Prinzo	Edie .	Setauket	Meeting Kindergarten Grade Level	Jan May 2019*	\$49.07/hr	8	\$392.56
*These sesions		Un POE announ	Meeting	2010 POE	action These		مسمله ماسم
	effective dates.	any BOE approve	ed at the January 16	, 2019 BOE 10	eenng. Thesi	e recomm	endations
March	Lee Ann	Setauket	Kindergarten Grade Level Meeting	Jan May 2019	\$49,07/hr	8	\$392.56
Alexander	Dawn	Arrowhead	Self-Regulated Strategy Development (SRSD) for	Jan June 2019*	\$49.07/hr	12	\$588.84
DeLorenzo	Heather	Arrowhead	Writing Instruction Self-Regulated Strategy Development (SRSD) for	Jan June 2019*	\$49.07/hr	10	\$490.70
Shook	Heather .	Arrowhead	Writing Instruction Self-Regulated Strategy Development	Jan June 2019*	\$49.07/hr	10	\$490.70
Tarabocchia	Christina	Arrowhead	(SRSD) for Writing Instruction Self-Regulated Strategy	Jan June 2019*	\$49.07/hr	10	\$490.70
West	Danielle	Arrowhead	Development (SRSD) for Writing Instruction Self-Regulated	Jan June	\$49.07/hr	10	\$490.70
			Strategy Development (SRSD) for Writing Instruction	2019*			
Perotti	Jenna	Arrowhead .	Self-Regulated Strategy Development (SRSD) for Writing	Jan June 2019*	\$49.07/hr	10	\$490.70
	•		Instruction				
*These assignm revise the effect		lly BOE approve	d at the Jan. 16, 20	19 BOE meetin	ng, These rec	ominenda	tions are to
Daleo	Lauren	Gelinas	AIS - Math Regents Review	May - June 2019	\$56.75/hr	1.5'	\$85.13
Dunbar	Kristin	Gelinas	AIS - Math Regents Review	Мау - Јипе 2019	\$56.75/hr	l	\$56.75
Hanscom	Stanley	Gelinas	AIS - Math Regents Review	May - June 2019	\$56.75/hr	l	\$56.75
*These assignm for additional ho		lly BOE approve	d at the May 8, 20	9 BOE meetin	g. These reco	ommendat	ions are
Costello	Anne-Marie	Gelinas	AIS Services - English	January - June	\$56.75	12	\$681.00
Ouzounian	Marisa	Gelinas	AIS Services - English	2019* January - June	\$56.75	12	\$681.00
These assignm are to revise the		lly BOE approve	d at the February 1	2019 3, 2019 BOE :	neeting. Thes	se recomm	endations
Cumiculum'	ino						
Curriculum writ Nachtigall	ing: Dawn	Murphy	7th Grade Science	2019-2020	\$49.56/hr	22	\$1,090.32
Chemakoff	Emily	Gelinas	(Spiral) 7th Grade Science	2019-2020	\$49.56/hr	20	\$991.12.
Flanagan	Мопіса	Gelinas	(Spiral) 7th Grade Science (Spiral)	2019-2020	\$49.56/hr	20	\$991.12

				_			
Garcia	Sue	Murphy	7th Grade Science	2019-2020	\$49.56/hr	20	\$991.12
Tavitian	Michael	Murphy	(Spiral) 7th Grade Science	2019-2020	\$49.56/hr	20	\$991.12
Nachtigall	Dawn	Murphy	(Spiral) 7th Grade Honors	2019-2020	\$49.56/hr	22	\$1,090.32
Conrad	Lori	Gelinas	Science (Spiral) 7th Grade Honors Science	2019-2020	\$49.56/hr	20	\$991.12
McGuire	Sue	Murphy	(Spiral) 7th Grade Honors Science	2019-2020	\$49.56/hr	20	\$991.12
Visser	Jillian	Gelinas	(Spiral) 7th Grade Honors Science	2019-2020	\$49.56/hr	20	\$991.12
Catalfamo	Tammy	WMHS	(Spiral) AP Language	2019-2020		12	\$594.72
Crispino	Lisa	WMHS ·	& Composition AP Language	2019-2020	\$49.56/hr	10	\$495.60
Kelso	Elizabeth	WMHS	& Composition AP Language	2019-2020	\$49.56/hr	10	\$495.60
Metrio	Jessica	WMHS	& Composition	2019-2020	\$49.56/hr	10	\$495.60
			& Composition		\$49.56/hr		
Duffy	Catherine	Murphy	English 8 Honors	2019-2020	\$49.56/hr	12	\$594.72
Eaton	David	Murphy	NGSLS English 8 Honors NGSLS	2019-2020	\$49.56/hr	10	\$495.60
Miiillo	Michael	Gelinas	English 8 Honors NGSLS	2019-2020	\$49.56/hr	10	\$495.60
Hanczor	Michelle	Gelinas	English 8 Regents NGSLS	2019-2020	\$49.56/hr	12	\$594.72
Gobetz	Brianna	Gelinas	English 8 Regents NGSLS	2019-2020	\$49,56/hr	10	\$495.60
Keenan	Susan	Murphy	English 8 Regents NGSLS	2019-2020	\$49.56/hr	10	\$495.60
Dillon	Christine	WMH\$	Foundations in Algebra	2019-2020	\$49.56/hr	22	\$1,090.32
Ely	Jeff	WMHS	Foundations in	2019-2020		20	\$991.12
Meiselbach	Karen	Murphy	Algebra Math 7H, Algebra I (8H) & Algebra I H Theory-	2019-2020	\$49.56/hr \$49.56/hr	12	\$594.72
Boysen -	Theresa	Murphy.	NGSLS Math 7H, Algebra I (8H) & Algebra I H Theory-	2019-2020	\$49.56/hr	10	\$495.60
Нальсоіп	Stan	Gelinas	NGSLS Math 7H, Algebra Γ(8H) & Algebra I H Theory-	2019-2020	\$49.56/hr	10	\$495.60
Negron	Sylvia	Murphy	NGSLS Math 7H, Algebra I (8H) & Algebra I H Theory- NGSLS	2019-2020	\$49.56/hr	10	\$495.60
Litavois	Nathalie	North Country	Pre-K Enrichment	2019-2020	\$49.56/hr	22	\$1,090.32
Pickford	Nancy	Setauket	Program Pre-K Enrichment	2019-2020	\$49.56/hr	20	\$991.12
D'Orazi	Alyssa	Setauket	Program Pre-K Enrichment	2019-2020	\$49.56/hr	20	\$991.12
Macedonia	Jackie	Nassakeag	Program Pre-K Enrichment	2019-2020	\$49.56/hr	20	\$991,12
Van Scoy	Lauren	Arrowhead	Program Pre-K Enrichment	2019-2020	\$49.56/hr	20	\$991.12
Conforti	Anabela	Arrowhead	Program Pre-K Enrichment Program	2019-2020	\$49.56/hr	20	\$991.12

McCrary	Denise	Minnesauke	Science - Grade 3	2019-2020	\$49.56/hr	22	\$1,090.32
Tardo	Danielle	Arrowhead	Science - Grade 3	2019-2020	\$49.56/hr	20	\$991.12
Brunquell	Jamie	Minnesauke	Science -	2019-2020		20	\$991.12
Hinde	Corinne	Mount	Grade 3 Science -	2019-2020	\$49.56/hr	20	\$991.12
Bonifacio	Debra	Nassakeag	Grade 3 Science -	2019-2020	\$49.56/hr	20	\$991.12
Zambujeiro	Megan	Setauket	Grade 3 Science -	2019-2020	\$49.56/hr	20	\$991.12
Archer	Susan	Minnesauke	Grade 3 Science -	2019-2020	\$49.56/hr	22	\$1,090.32
Gallagher	Alex	Arrowhead	Grade 4 Science -	2019-2020	\$49.56/hr	20	\$991.12
•			Grade 4		\$49.56/hr		
Wonderland	Katie	Mount	Science - Grade 4	2019-2020	\$49.56/hr	20	\$991.12
Comiskey	Kathryn	Nassakeag	Science - Grade 4	2019-2020	\$49.56/hr	20	\$991.12
Gustafson	Eric	Setauket	Science - Grade 4	2019-2020	\$49.56/hr	20	\$991.12
Nilsson	Marylou	Minnesauke	Science - Grade 5	2019-2020	\$49.56/hr	12	\$594.72
Nani	Meryi	Arrowhead	Science -	2019-2020		10	\$495.60
Burdette	Nicole	Mount	Grade 5 Science -	2019-2020	\$49.56/hr	10	\$495.60
Hughes	Jason	Nassakeag	Grade 5 Science -	2019-2020	\$49.56/hr	10	\$495.60
DaVanzo	Matt	Setauket	Grade 5 Science -	2019-2020	\$49.56/hr	10	\$495.60
Lachler	Lisa	Mount	Grade 5 Math - K	2019-2020	\$49.56/hr	12	\$594.72
Alu	Loree	Arrowhead	through 2nd Math - K	2019-2020	\$49.56/hr	10	\$495.60
			through 2nd		\$49.56/hr	10	
Larsen	Judy	Nassakeag	Math - K through 2nd	2019-2020	\$49.56/hr		\$495.60
West	Danielle	Setauket	Math - K through 2nd	2019-2020	\$49.56/hr	10	\$495.60
Baldante	Stefanie	Mount	Math - 3rd through 5th	2019-2020	\$49.56/hr	12	\$594.72
Theofield	Kristen	Arrowhead	Math - 3rd through 5th	2019-2020	\$49.56/hr	10	\$495.60
Comiskey	Kathryn	Nassakeag	Math - 3rd	2019-2020	\$49.56/hr	10	\$495.60
Negus	Amanda	Setauket	through 5th Math - 3rd	2019-2020		10	\$495.60
Hegarty	Alexandria	Setauket	through 5th Math - 3rd	2019-2020	\$49.56/hr	10	\$495.60
Gulino	Olga	Mount	through 5th Math - 6th	2019-2020	\$49.56/hr	12	\$594.72
Bloom	Chrissa	Arrowhead	grade Math - 6th	2019-2020	\$49.56/hr	10	\$495.60
Weinstein	Robyn	Nassakeag	grade Math - 6th	2019-2020	\$49.56/hr	10	\$495.60
Lombardo	Jeanine	Setauket	grade Math - 6th	2019-2020	\$49.56/hr	10	\$495,60
•			grade		\$49.56/hr	.0	
Tamuk	Alexander	WMHS	Driver Education,	2019-2020	\$60/11		\$4,600.00
			lecture and driving, Fall				
Tamuk	Alexander	WMHS	Driver Education,	2019-2020	\$60/hr		\$4,600.00
			lecture and driving, Spring				
			anting, spring				

APPOINTMENTS OF 2018-2019 SUMMER ASSIGNMENTS

Last Name	First Name	Building	Assignment	Effec- tive	Rate	<u>Hours</u>	Not to Exceed
	•	ESY Instruction	ıal Positions				
Hanneken	Seth	Arrowhead	7/1/19- 8/9/19	Teacher	\$300/day		
Rienzi	Sean	Arrowhead	7/1/19- 8/9/19	Teacher	\$300/day		
Cowen	Jennifer	Arrowhead	7/1/19- 8/9/19	TA	\$18.50/HR		
Marino	Zachary	Arrowhead	7/1/19- 8/9/19	TA	\$18.50/HR		,
*Mottola	Judith	Arrowhead	7/1/19- 8/9/19	TA	\$18.50/HR	•	

^{*}This appointment is dependent upon background clearance.

Substitutes			٠			
Lacapria	Melissa	Arrowhead	7/1/19- 8/9/19	Principal	\$325/day	
Murphy	Christopher	Arrowhead	7/1/19- 8/9/19	Principal	\$325/day	
Zeidman	Stacey	Arrowhead	7/1/19- 8/9/19	Principal	\$325/day	
Cowen	Jennifer	Arrowhead	7/1/19- 8/9/19	Teacher	\$300/day	
Hurley	Donna	Arrowhead	7/1/19- 8/9/19	Teacher	\$300/day	
		٠	Summer Work	:		
Canestro	Andrea	WMHS	Summer Work - Math	Summer 2019	2019-2020 Contractual Daily Rate	5 Days
Cereola	Vincent	WMHS	Summer Work - ELA	Summer 2019	2019-2020 Contractual Daily Rate	5 Days
Cordina	Jacqueline	Gelinas	Summer Work - Math	Summer 2019	2019-2020 Contractual Daily Rate	3 Days
Kost	Maureen	WMHS	Summer Work - Phys Ed	Summer 2019	2019-2020 Contractual Daily Rate	5 Days
Kula	Mamie	WMHS	Summer Work - Science	Summer 2019	2019-2020 Contractual Daily Rate	5 Days
Trettner	Jennifer	WMHS :	Summer Work - Art	Summer 2019	2019-2020 Contractual Daily Rate	6 Days
Напсхот	Michelle	Gelinas	Summer Work - ELA	Summer 2019	2019-2020 Contractual Daily Rate	3 Days
Schuchman	Peter	Gelinas	Summer Work - Science	Summer 2019	2018-2019 Contractual Daily Rate	3 Days
Duffy	Catherine	Murphy	Summer Work - ELA	Summer 2019	2019-2020 Contractual Daily Rate	3 Days
Nachtigall	Dawn	Murphy	Summer Work - Science	Summer 2019	2019-2020 Contractual Daily Rate	3 Days
Vetro	Rocco	Murphy	Summer Work - Math	Summer 2019	2019-2020 Contractual Daily Rate	3 Days
Pollera	Anthony	North Country	Summer Work - Music	Summer 2019	2019-2020 Contractual Daily Rate	5 Days
Driscoll	Christina	Arrowhead	Summer Work - Health/PE	Summer 2019	2019-2020 Contractual Daily Rate	5 Days
Rubenstrunk	Deidre	North Country	Summer Work - IT	Summer 2019	2019-2020 Contractual Daily Rate	4 Days
Weik	Andy .	North - Country	Summer Work - IT	Summer 2019	2019-2020 Contractual Daily Rate	4 Days
Connelly	Nicole	Gelinas	Summer Work - Library	Summer 2019	2019-2020 Contractual Daily Rate	20
Hatcher	April	WMHS .	Summer , Work Library	Summer 2019	2019-2020 Contractual Daily Rate	20

Knox	Betsy	Murphy	Summer Work - Library	Summer 2019	2019-2020 Contractual Daily Rate	20	
Alexander	Dawn	Districtwide	New Teacher Orientation & Preparation	Summer 2019	2019-2020 Contractual Daily Rate	3 Days	
Lamírout	Brenda .	Districtwide	New Teacher Orientation, Substitute Orientation & Preparation	Summer 2019	2019-2020 Contractual Daily Rate	4 Days	
Perry	Leanne	Districtwide	New Teacher Orientation, Substitute Orientation & Preparation	Summer 2019	2019-2020 Contractual Daily Rate	4 Days	
Brady	Judy	Nassakeag	Program Coordinator - Summer Reading Program	7/1/19 - 7/25/19	\$5,000.00		\$5,000.00
Eaton	Danielle	Nassakeag	Reading Teacher for Summer Reading Program	7/1/19 - 7/25/19	\$57.32/hr	45 Hours	\$2,579.74
			2 Hours Curriculum Training		\$49.56/hr	2 Hours	\$99.12
Foronjy	Nicole	Nassakeag	Reading Teacher for Summer Reading Program	7/1/19 - 7/25/19	\$57.32/hr	45 Hours	\$2,579.74
	•		2 Hours Curriculum Training		\$49.56/hr	2 Hours	\$99.12
Heal	Jessica	Nassakeag	Reading Teacher for Summer Reading Program	7/1/19 - 7/25/19	\$57.32/hr	45 Hours	\$2,579.74
			2 Hours Curriculum Training	•	\$49.56/hr	2 Hours	\$99.12
Kinney	Nicole	Nassakeag	Reading Teacher for Summer Reading Program	7/1/19 - 7/25/19	\$57.32/hr	45 Hours	\$2,579.74
	,		2 Hours Curriculum Training		\$49.56/hr	2 Hours	\$99.12
Rosner	Kim	Nassakeag	Reading Teacher for Summer Reading Program	7/1/19 - 7/25/19	\$57.32/hr	45 Hours	\$2,579.74
			2 Hours Curriculum Training		\$49.56/hr	2 Hours	\$99.12
Slavin	Janine	Nassakeag	Reading Teacher for Summer Reading Program	7/1/19 - 7/25/19	\$57.32/hr	45 Hours	\$2,579.74

			2 Hours Curriculum Training		\$49.56/hr	2 Hours	\$99.12
Ullah -	Nicole	Nassakeag	Reading Teacher for Summer Reading Program	7/1/19 - 7/25/19	\$57.32/hr	45 Hours	\$2,579.74
			2 Hours Curriculum Training		\$49.56/hr	2 Hours	\$99,12
Walsh	Daniel	Nassakeag	Reading Teacher for Summer Reading Program	7/1/19 - 7/25/19	\$57.32/hr	45 Hours	\$2,579.74
•		·	2 Hours Curriculum Training		\$49.56/hr	2 Hours	\$99.12
Hegarty	Lorraine	Nassakeag	Substitute Reading Teacher for Summer Reading Program	7/1/19 - 7/25/19	\$57.32/hr	45 Hours	\$2,579.74
Jantzen	Leah	3V Academy	Intakes, planning, scheduling and transition	Summer 2019	2019-20 Daily Contractual Rate	3 days	
Lynch	Mary	3V Academy	Intakes, planning, scheduling and transition	Summer 2019	2019-20 Daily Contractual Rate	2 days	
Zeidman	Stacey	3V Academy	Intakes, planning, scheduling and transition	Summer 2019	2019-20 Daily Contractual Rate	2 days	
Спізріло	Lisa	Academy	Summer Credit Recovery - English	7/1/19- 7/31/19	\$57.32/hour	20	
Lorentzen	Jennifer	Academy	Summer Credit Recovery - History	7/1/19- 7/31/19	\$57.32/hour	20	
DeRosa	Michael	Academy	Summer Credit Recovery - Math	7/1/19- 7/31/19	\$57.32/hour	20	
DiFede	Christine	Academy	Summer Credit Recovery - Earth Science	7/1/19- 7/31/19	\$57.32/hour .	20 .	
Marotta ·	Chris	Academy	Summer Credit Recovery - Living Environment	7/1/19- 7/31/19	\$57.32/hour	20 '	
Muscarelia	Chris	Academy	Summer Credit Recovery - PE/Health	7/1/19- 7/31/19	\$57.32/hour	20	,
Saputo	Claudia	Academy	Summer Credit Recovery - Spanish	7/1/19- 7/31/19	\$57.32/hour	20	

Zeidman	Stacey	Academy	Summer Credit Recovery - Special Education	7/1/19- 7/31/19	\$57.32/hour	40	
Liguori	Christine	Academy	Summer Credit Recovery - Teacher Assistant	7/1/19- 7/31/19	2019-20 Contractual Hourly Rate	40	
Marotta	Chris	Academy -	Living Environment Labs - 12:30 - 2:30	7/1/19- 7/31/19	\$57.32/hour	40 .	
Tamuk	Alexander	WMHS	Driver Education, lecture and driving	Summer 2019	\$60/hr		\$4,440.00

On motion by Mr. Komreich, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

<u>Name</u>

Name

DeGoveia, Debra

Heck, Kelly

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

School/ Assignment

Gelinas JHS/

RETIREMENT

Effective Date

8/31/2019

Years of Service

20 yrs. 7 mos.

Custodial Worker I		5.51.2015	20)101 / 11100.	
		RESIGN	ATIONS	
	Name	School/ Assignment	Effective Date	Length of Service
	Dean, Virginia	Arrowhead Elementary School/ Special Education Aide	6/26/2019	t yr. & 9 mos.
	DiGiovanna, Giovanna	North Country Admin. Business Services/ Account Clerk	6/15/2019	1 yr. & 10 mos.
	Evans, Sherry	Nassakeag Elementary School/ School Monitor	6/21/2019	18 yrs. & 9 mos.
	Gensinger, Maryann	Arrowhead Elementary School/ Special Education Aide	6/26/2019	4 yrs. & 8 mos.
	Offerding, Mary	Ward Melville High School/ Part-Time Food Service Worker	06/14/29	23 yrs. & 9 mos.
	Schmidt, Nicole	Arrowhead Elementary School/ Special Education Aide	06/26/2019	9 mos.

TERMINATIONS

Effective 6/20/2019

School/ Assignment

Arrowhead Elementary School/ Part-Time Food Service Worker

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Clericals

McGarrity, Donna

12 month Office Assistant (Step 6/Level 1) Gelinas Junior High School - Main Office

Replacing: Lana Gee

Annual Salary: \$43,130 (prorated)

Effective: July 15, 2019

Ms. McGarrity is currently a substitute clerical, monitor and special education aide in the

Ms. Gee will be transferring to the new Gelinas Health Office position. Fingerprint clearance has been received and is on file.

Brown, Laura

12 month Office Assistant (Step 6/Level 1) Ward Melville High School - Health Office

Replacing: Joette Hiler

Related to current employee: No Annual Salary: \$43,130 Effective: July 1, 2019

Denial of fingerprint clearance or conditional clearance from the Commissioner of Education, or negative background check, shall result in immediate termination of employment. Ms. Hiler transferred to the new position in Human Resources.

Food Service Worker

Mertz, Robin

Part Time Food Service Worker (Step 1/Level 1)

Ward Melville High School Replacing: New Position Salary - \$15.32/hr Effective: May 8, 2019

Ms. Mertz was approved for emergency appointment by Ms. Pedisich on May 6, 2019 to begin working on May 8, 2019. Fingerprint clearance has been received and is on file.

School-Aged Child Care (SACC)

Ciullo, Maria

Child Care Assistant (max 20 hours/week)

Mount Elementary School

Additional Staff

Salary: \$15.09 hourly (Step 1/Level 1)

Effective: August 28, 2019

Ms. Ciullo is currently a monitor at Nassakeag Elementary School. Fingerprint clearance has been received and is on file.

CHANGES OF STATUS

Monitor/Special Education Aide

Gibson, Lori

From: Special Education Aide (Step 1/Level 10)

Murphy Junior High School

To: Special Education Aide (Step 1/Level 13)

Salary: \$14.42/hr. Stipend: \$700 (prorated) Effective: June 5, 2019

SALARY ADJUSTMENTS

Name	Position/ Assignment	<u>Effective</u>	Stipend Amount
Deedy, Jessica Kuffner, Susan	Head Cook/ Ward Melville HS Cook/ Ward Melville HS	7/01/19 7/01/19	\$10,000 annually \$3,600 annually
Jane Pallotta	Assistant Cook/ Ward Melville HS	7/01/19	\$2,700 annually
Layden, Sean	Assistant Cook/ Ward Melville HS	7/01/19	\$2,700 annually
Ciaravino, Nicole	Lead Food Service Worker/ Murohy JHS	7/01/19	\$1,500 annually

Ford, Michelle	Lead Food Service Worker/ Setauket ES	7/01/19	\$1,500 annually
Geedman, Judith	Lead Food Service Worker/ Mount ES	7/01/19	\$1,500 annually
Gross, Nicole	Lead Food Service Worker/ Gelinas JHS	7/01/19	\$1,500 annually
Schoulder, Barbara	Lead Food Service Worker/ Minnesauke ES	7/01/19	\$1,500 annually
DAume, Marilyn	Lead Food Service Worker/	7/01/19	\$1,500 annually
Wappaus, Judy	Arrowhead ES Lead Food Service Worker/	7/01/19	\$1,500 annually
Feehan, Deborah	Nassakeag ES Lead Monitor/ Nassakeag ES	7/01/19	\$2.50 hourly
Holmes, Jill	Lead Monitor/ Setauket ES	7/01/19	\$2.50 hourly
Klotz, Margaret	Lead Monitor/Minnesauke ES	7/0//19	\$2.50 hourly
Lucido, Barbara	Lead Monitor/ Arrowhead ES	7/01/19	\$2.50 hourly
Sharkey, Donna	Lead Monitor/ Mount ES	7/01/19	\$2.50 hourly

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Clerical

Brown, Laura

Salary - \$13.00/hr.

Effective: 6/20/19

Denial of fingerprint clearance or conditional clearance from the Commissioner of Education, or negative background check, shall result in immediate termination of employment.

Farmer, Danielle

Salary - \$13.00/hr. Effective: 6/20/19

Denial of fingerprint clearance or conditional clearance from the Commissioner of Education, or negative background check, shall result in immediate termination of employment.

Lalia, Jenna

Salary - \$14.00/hr.

Effective: 7/1/19

Ms. Lalia is the daughter of Lori Lalia, Account Clerk in the Business Office. Fingerprint clearance has been received and is on file.

Schenker, Ellen

Salary - \$13.00/hr. Effective: 6/20/19

Ms. Schenker is currently a Food Service Worker. Fingerprint clearance has been received and is on file.

Food Service Workers

Frank, Sarah

Salary - \$13.00/hr.

Effective: 6/20/19

Fingerprint clearance has been received and is on file.

Shaw, Dana

Salary - \$13.00/hr.

Effective: 6/20/19

Fingerprint clearance has been received and is on file.

Monitors/Special Education Aides

Dean, Virginia

Salary - \$14.00/hr.

Effective: 7/1/19

Fingerprint clearance has been received and is on file.

Schmidt, Nicole

Salary - \$14.00/hr.

Effective: 7/1/19

Fingerprint clearance has been received and is on file.

APPOINTMENTS OF SUMER RECREATION STAFF 2019

<u>Last</u> Name	First Name	Building	Position New Hires	Effective	Rate	Assign- ment	Fingerprint Status
Agostino	Summer	Mount- Minnesauke	Counselor	7/8/19- 8/16/19	\$12,00/hr	Substitute	Student
Anderes	Isabella	Minnesauke	Counselor	7/8/19- 8/16/19	\$13.00/hr	Full Day	On File
Bonventure	Samantha	Minnesauke	Special Area Instructor- Arts and Crafts	7/8/19- 8/16/19	\$16.00/hr	Full Day	Student
Catsoris	Fiona	Mount- Minnesauke	Counselor	7/8/19- 8/16/19	N/A	Volunteer	Student
Cohen	Alexa	Mount	Counselor	7/8/19- 8/16/19	\$12.00/hr	Half Day	Student
Coleman	Rick	WMHS	Counselor	7/8/19- 8/16/19	\$20.50/hr	Travel	District Employee
Corrie	Mark	Minnesauke	Counselor	7/8/19- 8/16/19	\$13.00/hr	Full Day	Graduating Senior
Dibernardo	Tara	WMHS	Counselor	7/8/19-	\$20.50	Half Day	District
Downes	Olivia	Minnesauke	Counselor	8/16/19 7/8/19-	\$12.00/hr	Full Day	Employee Student
Dreyer	Brendan	Minnesauke	Counselor	8/16/19 7/8/19-	\$12.00/hr	Full Day	Student
Ferreira	Dylan	Mount	Counselor	8/16/19 7/8/19-	\$12.00/hr	Half Day	Student
Friedman	Max	Mount-	Counselor	8/16/19 7/8/19-	\$13.00/hr	Substitute	Graduating
Gaete	Ariel	Minnesauke Mount	Councilor	8/16/19 7/8/19-	\$13.00/hr	Half Day	Senior On File
			Counselor	8/16/19			
Gliganic	Alix	Minnesauke	Counselor	7/8/19- 8/16/19	\$12.00/hr	Full Day	Student
Golini	Sydney	Mount	Counselor	7/8/19- 8/16/19	\$12.00/hr	Full Day	Student
Gressin	Jacob	Minnesauke	Special Area Instructor-	7/8/19- 8/16/19	\$16.00/hr	Full Day	Student
Higgins	Jack	Mount	Tennis Counselor	7/8/19-	\$12.00/hr	Half Day	Student
Kaplan	Steven	Minnesauke	Counselor	8/16/19 7/8/19-	\$12.00/hr	Full Day	Student
Klouda	Christine	Mount- Minnesauke	Special Area Instructor- Tennis	8/16/19 7/8/19- 8/16/19	\$16.00/hr	Substitute	On File
Koester	James	Mount	Counselor	7/8/19-	\$13.00/hr	Half Day	On File
Larkin	Amelia	Minnesauke	Counselor	8/16/19 7/8/19-	\$12.00/hr	Full Day	Student
Lemer	Sarah	Мілпеsauke	Counselor	8/16/19 7/8/19-	\$13.00/hr	Substitute	On File
Liguori	Jillian	Mount	Counselor	8/16/19 7/8/19-	\$12.00/hr	Half Day	Student
Lorenzen	Meghan	Mount- Minnesauke	Counselor	8/16/19 7/8/19- 8/16/19	\$13.00/hr	Substitute	Graduating Senior
*Meyer	Ethan	Minnesauke	Special Area Instructor-	7/8/19- 8/16/19	\$16.00/hr	Full Day	On File
*This appoints	nent is depend	lent upon backgro	Tennis ound clearance.				
Mingrone	Ava	Mount- Minnesauke	Counselor	7/8/19- 8/16/19	\$12.00/hr	Substitute	Student
Mond	Jenna	Minnesauke	Special Area Instructor- Tennis	7/8/19- 8/16/19	\$16.00/hr	Full Day	Student
Nardella	Alexis	Mount- Minnesauke	Counselor	7/8/19- 8/16/19	\$12,00/hr	Substitute	Student
Peterson	Jessica	Minnesauke	Counselor ,	7/8/19- 8/16/19	\$13.00/hr	Full Day	On File
Plate	Kyle	Mount	Counselor	7/8/19- 8/16/19	\$13.00/hr	Half Day	On File
Quinn	Kristin .	Mount- Minnesauke	Counselor .	7/8/19- 8/16/19	\$12.00/hr	Substitute	Student
Slack	Jake	Minnesauke	Counselor	7/8/19-	\$12.00/hr	Full Day	Student
Slack	Nathan	Minnesauke	Counselor	8/16/19 7/8/19-	\$12.00/hr	Full Day	Student
Small	James	Mount	Counselor	8/16/19 7/8/19- ~	\$13.00/hr	Half Day	On File
Тагреу	Samantha	Minnesauke	Counselor	8/16/19 7/8/19- 8/16/19	\$13.00/hr	Full Day	Graduating Senior

		Returning Staff	•				
Accardo	Brian	Minnesauke	Counselor	7/8/19-	\$15.00	Full Day	On File
Acosta	Susan	Mount	Counselor	8/16/19 7/8/19-	\$14.00	Half Day	District
Aelsen	Margaret	Mount	Counselor	8/16/19 7/8/19-	\$13.00	Half Day	Employee On File
Anderson	Rachel	Minnesauke	Counselor	8/16/19 7/8/19-	\$13.50	Full Day	On File
Apraha-	Christine	Minnesauke	Nurse	8/16/19 7/8/19-	\$50.00	Full Day	On File
mian Ausset	Alison	Mount	Counselor	8/16/19 . 7/8/19-	\$15.50	Half Day	District
Basso	Raymond	WMHS	Counselor	8/16/19 7/8/19-	\$22.50	Travel	Employee On File
	-			8/16/19		Camp	
Beck	Matthew	Mount	Counselor	7/8/19- 8/16/19	\$13.00	Half Day	On File
Beck	Jack	Mount	Counselor	7/8/19- 8/16/19	\$12.00	Half Day	On File
Bellini	Aleia	Mount	Counselor	7/8/19- 8/16/19	\$13.50	Half Day	On File
Betz	Catherine	Minnesauke	Counselor	7/8/19- 8/16/19	\$13.00	Full Day	On File
Bhella	Cole	Mount	Counselor	7/8/19- 8/16/19	\$12.00	Half Day	Student
Brams	Julliette	WMHS	Counselor	7/8/19-	\$13.00	Full Day	On File
Brom-	Erica	Minnesauke	Counselor	8/16/19 7/8/19-	\$13.50	Full Day	On File
berger Burdette	Sydney	Mount	Counselor	8/16/19 7/8/19-	\$12.00	Half Day	Student
Cain	Helen	Мілпеsauke	Monitor	8/16/19 7/8/19-	\$17.00	Full Day	District
Casciano	Mawell	Minnesauke	Counselor	8/16/19 7/8/19-	\$13.00	Full Day	Employee On File
Caselli	Jake	Minnesauke	Counselor	8/16/19 7/8/19-	\$13.50	Full Day	On File
				8/16/19			
Catalina	Grace	Mount	Counselor	7/8/19- 8/16/19	\$13.50	Half Day	On File
Catalina	Frank	Mount	Counselor	7/8/19- 8/16/19	\$13.00	Half Day	Graduating Senior
Cavanagh	Samantha	Minnesauke	Counselor	7/8/19- 8/16/19	\$14.00	Full Day	On File
Ciardullo	Jessica	Minnesauke	Special Area Instructor - MINDFULNE	7/8/19- 8/16/19	\$16.00	Full Day	On File
Corrie	Michael	WMHS	SS Counselor	7/8/19-	\$21.50	Travel	District
Crean	Sarah	Mount	Supervisor	8/16/19 7/8/19-	\$40.00	Camp Half Day	Employee · On File
Dargan	Kate	Minnesauke	Counselor	8/16/19 7/8/19-	\$13.00	Full Day	Graduating
	Аппа	Minnesauke		8/16/19 7/8/19-		-	Senior
Delligatti	Addia	(VIIIII)	Special Area Instructor - SPORTS ZONE	8/16/19	\$16.00	Full Day	On File
Dion							
	Jean-	WMHS	Supervisor	7/8/19-	\$40.00	Travel	On File
Diviney	Jean- Pierre Molly	WMHS Minnesauke		8/16/19 7/8/19-	\$40.00 \$13.00	Travel Camp Full Day	On File
Diviney Donovan	Pierre		Supervisor	8/16/19		Camp	
·	Pierre Molly	Minnesauke	Supervisor Counselor Counselor	8/16/19 7/8/19- 8/16/19	\$13.00 \$13.50	Camp Full Day Full Day	On File
Donovan Driscoll	Pierre Molly Ashley Christina	Minnesauke Minnesauke Minnesauke	Supervisor Counselor Counselor Program Director	8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19	\$13.00 \$13.50 \$50.00	Camp Full Day Full Day Full/Half	On File On File District Employee
Donovan	Pierre Molly Ashley	Minnesauke Minnesauke	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor - ARTS &	8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	\$13.00 \$13.50	Camp Full Day Full Day	On File On File District
Donovan Driscoll	Pierre Molly Ashley Christina	Minnesauke Minnesauke Minnesauke Mount-	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor -	8/t6/19 7/8/19- 8/t6/19 7/8/19- 8/t6/19 7/8/19- 8/t6/19 7/8/19- 8/t6/19	\$13.00 \$13.50 \$50.00 \$16.00/\$1	Camp Full Day Full Day Full/Half Half Day/Full	On File On File District Employee Graduating
Donovan Driscoll Ehlers	Pierre Molly Ashley Christina Laurel	Minnesauke Minnesauke Minnesauke Mount- Minnesauke	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor - ARTS & CRAFTS	8/t6/19 7/8/19- 8/t6/19 7/8/19- 8/t6/19 7/8/19- 8/t6/19 7/8/19- 8/t6/19	\$13.00 \$13.50 \$50.00 \$16.00/\$1 3.50	Camp Full Day Full Day Full/Half Half Day/Full Day	On File On File District Employee Graduating Senior
Donovan Driscoll Ehlers Fitzpatrick	Pierre Molly Ashley Christina Laurel	Minnesauke Minnesauke Minnesauke Mount- Minnesauke Minnesauke	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor - ARTS & CRAFTS Counselor	8/t6/19 7/8/19- 8/t6/19 7/8/19- 8/t6/19 7/8/19- 8/t6/19 7/8/19- 8/t6/19	\$13.00 \$13.50 \$50.00 \$16.00/\$1 3.50	Camp Full Day Full Day Full/Half Half Day/Full Day	On File On File District Employee Graduating Senior On File
Donovan Driscoll Ehlers Fitzpatrick	Pierre Molly Ashley Christina Laurel Katherine	Minnesauke Minnesauke Minnesauke Mount- Minnesauke Minnesauke	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor - ARTS & CRAFTS Counselor Counselor	8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 8/16/19	\$13.00 \$13.50 \$50.00 \$16.00/\$1 3.50 \$13.50 \$13.00	Camp Full Day Full Day Full/Half Half Day/Full Day Full Day Full Day	On File On File District Employee Graduating Senior On File Oraduating Senior Graduating Senior Graduating Senior Graduating Senior On File Oraduating
Donovan Driscoll Ehlers Fitzpatrick Fitzpatrick Gallo Gazura	Pierre Molly Ashley Christina Laurel Katherine Elizabeth Aleandra	Minnesauke Minnesauke Minnesauke Mount- Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor - ARTS & CRAFTS Counselor Counselor Counselor	8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19	\$13.00 \$13.50 \$50.00 \$16.00/\$1 3.50 \$13.50 \$13.00 \$13.00 \$13.00	Camp Full Day Full Day Full/Half Half Day/Full Day Full Day Full Day Full Day Full Day Full Day Full Day	On File On File District Employee Graduating Senior On File Graduating Senior Graduating Sr. Port Jeff Graduating Senior Graduating Senior
Donovan Driscoll Ehlers Fitzpatrick Fitzpatrick Gallo Gazura Grewal	Pierre Molly Ashley Christina Laurel Katherine Elizabeth Aleandra Jake Komal	Minnesauke Minnesauke Mount- Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor - ARTS & CRAFTS Counselor Counselor Counselor Counselor Counselor Counselor	8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19	\$13.00 \$13.50 \$50.00 \$16.00/\$1 3.50 \$13.50 \$13.00 \$13.00 \$13.00 \$13.00	Camp Full Day Full/Half Half Day/Full Day Full Day Half Day Half Day	On File On File District Employee Graduating Senior On File Oraduating Senior Graduating Senior Graduating Senior Graduating Senior Graduating Senior Graduating Senior Graduating Senior
Donovan Driscoll Ehlers Fitzpatrick Fitzpatrick Gallo Gazura Grewal Heyder	Pierre Molly Ashley Christina Laurel Katherine Elizabeth Aleandra Jake Komat Thomas	Minnesauke Minnesauke Mount- Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Mount	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor ARTS & CRAFTS Counselor	8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19	\$13.00 \$13.50 \$50.00 \$16.00/\$1 3.50 \$13.50 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00	Camp Full Day Full/Half Half Day/Full Day Full Day Full Day Full Day Full Day Full Day Half Day Half Day	On File On File District Employee Graduating Senior On File Graduating Senior Graduating Sr. Port Jeff Graduating Senior Graduating Conselector Graduating Senior Graduating Senior Graduating Senior Comselector Wogue HS
Donovan Driscoll Ehlers Fitzpatrick Fitzpatrick Gallo Gazura Grewal Heyder Kellennan	Pierre Molly Ashley Christina Laurel Katherine Elizabeth Aleandra Jake Komał Thomas Alexandra	Minnesauke Minnesauke Mount- Minnesauke Mount Mount	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor ART'S & CRAFT'S Counselor	8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 8/16/19 8/16/19 8/16/19 8/16/19	\$13.00 \$13.50 \$50.00 \$16.00/\$1 3.50 \$13.50 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00	Camp Full Day Full Half Day/Full Day Full Day Half Day Half Day Full Day	On File On File District Employee Graduating Senior On File Graduating Senior Graduating Senior Graduating Senior Graduating Senior Graduating Senior Conse-wogue HS On File
Donovan Driscoll Ehlers Fitzpatrick Fitzpatrick Gallo Gazura Grewal Heyder Kellerman Kenny	Pierre Molly Ashley Christina Laurel Katherine Elizabeth Aleandra Jake Komal Thomas Alexandra Christopher	Minnesauke Minnesauke Mount- Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Mount Minnesauke Minnesauke	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor ARTS & CRAFTS Counselor	8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19	\$13.00 \$13.50 \$50.00 \$16.00/\$1 3.50 \$13.50 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00	Camp Full Day Full/Half Half Day/Full Day Full Day Full Day Full Day Full Day Full Day Full Day Half Day Half Day Full Day Full Day Half Day Full Day	On File On File District Employee Graduating Senior On File Graduating Senior On File On File
Donovan Driscoll Ehlers Fitzpatrick Fitzpatrick Gallo Gazura Grewal Heyder Kellennan	Pierre Molly Ashley Christina Laurel Katherine Elizabeth Aleandra Jake Komal Thomas Alexandra Chris-	Minnesauke Minnesauke Minnesauke Mount- Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Mount Mount Minnesauke Minnesauke Minnesauke	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor ARTS & CRAFTS Counselor Counselor	8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19	\$13.00 \$13.50 \$50.00 \$16.00/\$1 3.50 \$13.50 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00	Camp Full Day Full Half Day/Full Day Full Day Half Day Half Day Full Day	On File On File District Employee Graduating Senior On File Graduating Senior Graduating Senior Graduating Senior Graduating Senior Graduating Senior Graduating Senior Graduating On File On File On File
Donovan Driscoll Ehlers Fitzpatrick Fitzpatrick Gallo Gazura Grewal Heyder Kellerman Kenny	Pierre Molly Ashley Christina Laurel Katherine Elizabeth Aleandra Jake Komal Thomas Alexandra Christopher	Minnesauke Minnesauke Mount- Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Mount Minnesauke Minnesauke	Supervisor Counselor Counselor Program Director Counselor/Spe cial Area Instructor ARTS & CRAFTS Counselor	8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	\$13.00 \$13.50 \$50.00 \$16.00/\$1 3.50 \$13.50 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00	Camp Full Day Full/Half Half Day/Full Day Full Day Full Day Full Day Full Day Full Day Full Day Half Day Half Day Full Day Full Day Half Day Full Day	On File On File District Employee Graduating Senior On File Graduating Senior On File On File

Liucci	Daniel	Minnesauke	Counselor	7/8/19-	\$13.50	Full Day	On File
Liucci	Keni	Minnesauke	Counselor	8/16/19 7/8/19-	\$13.00	Full Day	On File
Liucci	Nicole	Minnesauke	Counselor	8/16/19 7/8/19-	\$13.00	Full Day	On File
Lobenhofer	Tyler	WMHS	Counselor	8/16/19 7/8/19-	\$20.50	Travel	On File
Lorenzen	Hannah	Mount- Minnesauke	Substitute	8/16/19 7/8/19- 8/16/19	\$13.00	Camp Substitute	On File
Marcellino	AleaRose	Mount	Counselor	7/8/19-	\$12.00	Half Day	Student
Marinus	Patricia	Minnesauke	Monitor	8/16/19 7/8/19-	\$17.00	Full Day	District
Marsh	Michael	Mount	Counselor	8/16/19 7/8/19-	\$12.00	Half Day	Employee Student
	Susanne	Minnesauke	Nurse	8/16/19		•	
Mayemick				7/8/19- 8/16/19	\$50.00	Full Day	District Employee
McDon- ough- Coupe	Brittany	Minnesauke	Counselor	7/8/19- 8/16/19	\$14.50	Full Day	On File
McKeever	Kerry	Minnesauke	Counselor	7/8/19- 8/16/19	\$13.50	Full Day	On File
Меззіла	Claire	Mount	Counselor	7/8/19- 8/16/19	\$13.00	Half Day	District Employee
Miller	Emily	Minnesauke	Counselor	7/8/19- 8/16/19	\$14.00	Full Day	On File
Mongiovi	Michael	Minnesauke	Counselor	7/8/19- 8/16/19	\$13.50	Full day	On File
Morseman	Janet	Minnesauke	Special Area Instructor - DISCOVERY	7/8/19- 8/16/19	\$17.00	Full Day	District Employee
Morseman	Elizabeth	Minnesauke	Counselor	7/8/19-	\$13.50	Full Day	On File
Parrella	Samantha	Minnesauke	Counselor	8/16/19 7/8/19-	\$14.00	Full Day	On File
Paul	Emily	Minnesauke	Counselor	8/16/19 7/8/19-	\$13.50	Full Day	On File
Pinard	Allison	Minnesauke	Medical Staff	8/16/19 7/8/19-	\$20.00	Full Day	On File
Pinard	Justin	Minnesauke	Counselor	8/16/19 7/8/19-	\$14.00	Full Day	On File
Pollett	Megan	Minnesauke	Counselor	8/16/19 7/8/19-	\$13.00	Full Day	District
Prinzevalli	Ann Joseph	Minnesauke	Counselor	8/16/19 7/8/19-	\$13.00	Full Day	Employee On File
	•			8/16/19		•	
Onina	Kelly	Mount-	Counselor/Spe		\$16.00/\$1	Full	On File
Quinn	Kelly	Mount- Minnesauke	Counselor/Spe cial Area Instructor- SPORTS	7/8/19- 8/16/19	\$16.00/\$1 3.50	Full Day/Half Day	On File
Quinn Rahner	Kelly		cial Area Instructor-	7/8/19- 8/16/19 7/8/19-		Day/Half Day Travel	On File
,	-	Minnesauke	cial Area Instructor- SPORTS ZONE	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	3.50	Day/Half Day	
Rahner	Emilee	Minnesauke WMHS	cial Area Instructor- SPORTS ZONE Counselor Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	3.50 \$21.50	Day/Half Day Travel Camp	On File On File District
Rahner Reyes	Emilee Margaret	Minnesauke WMHS Minnesauke	cial Area Instructor- SPORTS ZONE Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 8/16/19 7/8/19-	3.50 \$21.50 \$13.50	Day/Half Day Travel Camp Full Day	On File
Rahner Reyes Rezende	Emilee Margaret Tiffany	Minnesauke WMHS Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19	3.50 \$21.50 \$13.50 \$17.00	Day/Half Day Travel Camp Full Day	On File On File District Employee
Rahner Reyes Rezende Richards	Emilee Margaret Tiffany Aleandra	Minnesauke WMHS Minnesauke Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 8/16/19	3.50 \$21.50 \$13.50 \$17.00 \$13.00	Day/Half Day Travel Camp Full Day Full Day Full Day	On File On File District Employee On File
Rahner Reyes Rezende Richards Richardson	Emilee Margaret Tiffany Aleandra Saundra	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 8/16/19	\$21.50 \$13.50 \$17.00 \$13.00 \$13.00	Day/Half Day Travel Camp Full Day Full Day Full Day Full Day	On File On File District Employee On File On File
Rahner Reyes Rezende Richards Richardson	Emilee Margaret Tiffany Aleandra Saundra	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Counselor Special Area Instructor -	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	\$21.50 \$13.50 \$17.00 \$13.00 \$13.00	Day/Half Day Travel Camp Full Day Full Day Full Day Full Day	On File On File District Employee On File On File
Rahner Reyes Rezende Richards Richardson Rodriguez	Emilee Margaret Tiffany Aleandra Saundra Diana	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Counselor Counselor MUSIC MUSIC	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00	Day/Half Day Travel Camp Full Day Full Day Full Day Full Day Full Day Full Day	On File On File District Employee On File On File On File
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas	Emitee Margaret Tiffany Aleandra Saundra Diana	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Counselor Special Area Instructor MUSIC Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00	Day/Half Day Travel Camp Full Day	On File On File District Employee On File On File On File
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Counselor Special Area Instructor MUSIC Counselor Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00 \$14.00	Day/Half Day Travel Camp Full Day	On File On File District Employee On File On File On File Student On File Ton File
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo Santana	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis Gabrielle	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor	7/8/19- 8/16/19 8/16/19 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	3.50 \$21.50 \$13.50 \$13.50 \$17.00 \$13.00 \$13.00 \$16.00 \$14.50	Day/Half Day Travel Camp Full Day	On File On File District Employee On File On File On File On File On File
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo Santana Schriffen	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis Gabrielle Patrick	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Minnesauke Mount	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Special Area Instructor - MUSIC Counselor Counselor Counselor Counselor Counselor Counselor Counselor Special Area Instructor -	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 8/16/19 8/16/19 8/16/19	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00 \$14.50 \$13.00 \$13.00	Day/Half Day Travel Camp Full Day Half Day Half Day Half Day Half Day	On File On File District Employee On File On File On File Student On File Graduating Senior
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo Santana Schriffen	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis Gabrielle Patrick Kevin	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Mount Mount	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Special Area Instructor- MUSIC Counselor Counselor Counselor Counselor Counselor Counselor Counselor Counselor Counselor Special Area	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00 \$14.50 \$13.00 \$12.00 \$12.00	Day/Half Day Travel Camp Full Day Half Day Half Day Half Day Half Day Half Day	On File On File District Employee On File On File On File Student On File Graduating Senior Student
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo Santana Schriffen Schriffen Scomillio	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis Gabrielle Patrick Kevin Kristin	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Minnesauke Mount Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Special Area Instructor - MUSIC Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00 \$14.50 \$14.50 \$13.00 \$12.00 \$14.50 \$13.00	Day/Half Day Travel Camp Full Day Half Day Half Day Half Day Half Day Half Day Half Day	On File On File District Employee On File On File On File On File Student On File Graduating Senior Student On File
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo Santana Schriffen Schriffen Scomillio	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis Gabrielle Patrick Kevin Kristin	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Minnesauke Mount Mount Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Special Area Instructor MUSIC Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00 \$14.50 \$13.00 \$14.50 \$13.00 \$12.00 \$14.50 \$13.00 \$12.00 \$14.50	Day/Half Day Travel Camp Full Day Full Day Full Day Full Day Full Day Full Day Half Day Half Day Half Day Half Day Full Day Half Day Full Day	On File On File District Employee On File On File On File Student On File Graduating Senior Student On File On File
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo Santana Schriffen Schriffen Scomillio Sesenton Shay	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis Gabrielle Patrick Kevin Kristin Hannony Stephanie	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Minnesauke Mount Mount Minnesauke Minnesauke Mount Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Special Area Instructor- MUSIC Counselor Special Area Instructor - DANCE Counselor Supervisor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19- 8/16/19	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00 \$14.50 \$14.50 \$13.00 \$14.50 \$13.00 \$14.50 \$14.50 \$14.50 \$14.50 \$14.50	Day/Half Day Travel Camp Full Day Full Day Full Day Full Day Full Day Full Day Half Day Half Day Half Day Half Day Full Day	On File On File District Employee On File On File On File Student On File Graduating Senior Student On File On File On File
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo Santana Schriffen	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis Gabrielle Patrick Kevin Kristin Hannony Stephanie Alea	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Minnesauke Mount Mount Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Special Area Instructor - MUSIC Counselor Counselor Counselor Counselor Counselor Counselor Counselor Counselor Counselor Special Area Instructor - DANCE Counselor Supervisor Counselor	7/8/19- 8/16/19 8/16/19 8/16/19 8/16/19 7/8/19- 8/16/19	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00 \$14.50 \$13.00 \$12.00 \$14.50 \$13.00 \$12.00 \$12.00 \$14.50 \$13.00 \$12.00	Day/Half Day Travel Camp Full Day Half Day Half Day Half Day Full Day	On File On File District Employee On File On File On File Student On File Graduating Senior Student On File On File On File Student On File Student
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo Santana Schriffen Schriffen Scomillio Sesenton Shay Shulder Smith	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis Gabrielle Patrick Kevin Kristin Hannony Stephanie Alea Gabriela	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Minnesauke Mount Mount Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Special Area Instructor- MUSIC Counselor Counselor Counselor Counselor Counselor Counselor Special Area Instructor- DANCE Counselor Supervisor Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00 \$13.00 \$14.50 \$14.50 \$13.00 \$12.00 \$14.50 \$13.00 \$12.00 \$13.00 \$13.00 \$13.00	Day/Half Day Travel Camp Full Day Full Day Full Day Full Day Full Day Full Day Half Day Half Day Half Day Half Day Full Day	On File On File District Employee On File On File On File Student On File Graduating Senior Student On File
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo Santana Schriffen Scomillio Sesenton Shay Shulder Smith Smith	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis Gabrielle Patrick Kevin Kristin Harmony Stephanie Alea Gabriela Nicholas	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Minnesauke Mount Minnesauke Mount Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Counselor Special Area Instructor - MUSIC Counselor	7/8/19- 8/16/19 8/16/19 8/16/19 8/16/19 7/8/19- 8/16/19	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00 \$14.50 \$13.00 \$12.00 \$14.50 \$13.00 \$14.50 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00	Day/Half Day Travel Camp Full Day Full Day Full Day Full Day Full Day Half Day Half Day Half Day Hull Day Full Day	On File On File District Employee On File On File On File Student On File Graduating Senior Student On File On File Graduating Senior Student On File Graduating On File On File On File Student On File On File Student On File
Rahner Reyes Rezende Richards Richardson Rodriguez Rojas Romeo Santana Schriffen Schriffen Scomillio Sesenton Shay Shulder Smith	Emilee Margaret Tiffany Aleandra Saundra Diana Serena Louis Gabrielle Patrick Kevin Kristin Hannony Stephanie Alea Gabriela Nicholas Emily	Minnesauke WMHS Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Minnesauke Mount Minnesauke Mount Minnesauke	cial Area Instructor- SPORTS ZONE Counselor Counselor Lead Counselor Counselor Special Area Instructor MUSIC Counselor	7/8/19- 8/16/19 7/8/19- 8/16/19 7/8/19-	3.50 \$21.50 \$13.50 \$17.00 \$13.00 \$13.00 \$13.00 \$14.50 \$13.00 \$12.00 \$14.50 \$13.00 \$12.00 \$13.00 \$13.00 \$13.00 \$13.00 \$13.00	Day/Half Day Travel Camp Full Day Full Day Full Day Full Day Full Day Full Day Half Day Half Day Half Day Full Day Half Day Half Day Full Day Half Day Half Day Full Day Half Day Full Day Half Day Full Day Half Day	On File On File District Employee On File On File On File Student On File Graduating Senior Student On File On File On File Graduating Senior Student On File On File Graduating Senior

Squatrito	Jessica	WMHS	Counselor	7/8/19-	\$22.50	Travel	On File
				8/16/19		Camp	
Stiles	Adam	WMHS	Counselor	7/8/19-	\$22.50	Travel	On File
				8/16/19		Camp	
Stimmel	Jenna	Minnesauke	Special Area	7/8/19-	\$16.50	Full Day	On File
			Instructor-	8/16/19		•	
			THEATER	*			
Тазілап	Sydney	Minnesauke	Counselor	7/8/19-	\$13.00	Full Day	On File
100///	2,2,		0041110101	8/16/19		,	• • • • • • • • • • • • • • • • • • • •
Таѕілап	Schuyler	Minnesauke	Counselor	7/8/19-	\$13.00	Full Day	On File
tasmun	bondyici	Willingsauko	Counstion	8/16/19	315.00	run ouy	0111110
Trentini	Christine	Mount	Nurse	7/8/19-	\$50.00	Half Day	District
1 tentint	Christine	MOTH	IANIZE	8/16/19	\$30.00	nan Day	
	- 1	3.61.			617.00	E-II B	Employee
Ulrich	Brad	Minnesauke	Lead	7/8/19-	\$16.00	Full Day	On File
			Counselor	8/16/19			
Ulrich	Thomas	Minnesauke	Counselor	7/8/19-	\$14.00	Full Day	On File
				8/16/19			
Ulrich	Laura	Mount-	Counselor	7/8/19-	\$13.00	Substitute	On File
		Minnesauke		8/16/19			
Valente	Amanda	Minnesauke	Counselor	7/8/19-	\$13.50	Full Day	On File
				8/16/19			
Vilceus	Gamaeel	Minnesauke	Counselor	7/8/19-	\$13.00	Full Day	On File
				8/16/19			
Viscosi	Andrew	Minnesauke	Counselor	7/8/19-	\$14.50	Full Day	District
				8/16/19			Employee
Viscosi	Matt	Minnesauke	Counselor	7/8/19-	\$13.00	Full Day	On File
				8/16/19		•	
Vitberg	Zehava	Minnesauke	Supervisor	7/8/19-	\$40.00	Full Day	On File
				8/16/19		•	
Wall	Robert	Minnesauke	Counselor	7/8/19-	\$14.50	Full Day	On File
******		,inquate		8/16/19	1.00		
Ward	Alea	Mount	Counselor	7/8/19-	\$12.00	Half Day	Student
11414	******	,,,ount	Counsolot	8/16/19	4.2.00		

APPOINTMENTS TO NON-INSTRUCTIONAL SUMER RECREATION PROGRAM

\mathbf{F}_{Δ}	Q.	mrina	W.	orkers

Carballo, Amanda	On "as needed" basis Salary: \$14.00 per hour Effective - July 8, 2019 - August 16, 2019
Cross, Gail	Salary: \$19.35 per hour Effective – July 8, 2019 – August 16, 2019
Gross, Nicole	Salary: \$15.98 per hour Effective – July 8, 2019 – August 16, 2019
Lange, Colleen	Salary: \$19.35 per hour Effective – July 8, 2019 – August 16, 2019
Layden, Sean	On "as needed" basis Salary: \$16.15 per hour Effective – July 8, 2019 – August 16, 2019
Pellicano, Michelle	On "as needed" basis Salary: \$19.35 per hour Effective – July 8, 2019 – August 16, 2019
Shaw, Dana	On "as needed" basis Salary: \$14.00 per hour Effective – July 8, 2019 – August 16, 2019
Wappaus, Judy	Salary: \$19.35 per hour Effective – July 8, 2019 – August 16, 2019

SUMMER ESY PROGRAM APPOINTMENTS

Last Name	First Name	Building	Effective	<u>Title</u>	Rate
Haff	Kathy	Arrowhead	7/1/19-8/9/19	Nurse	\$50.00/hr
Smith	Jeanette	Arrowhead	7/1/19-8/9/19	Nurse	\$50.00/hr
Substitute List					
Веггу	Roseann	Arrowhead	7/1/19-8/9/19	SEA	\$13.00/hr

*Rettig	Rosemary	Arrowhead	7/1/19-8/9/19	SEA	\$13.00/hr
*Rubin	Taylor	Arrowhead	7/1/19-8/9/19	SEA	\$13.00/hr

Ms. Rettig and Ms. Rubin were approved on 6/5/19 as ESY SEA's but will now be ESY sub SEA's.

APPOINTMENTS OF SUMMER READING PROGRAM STAFF

<u>Last</u> Name	<u>First</u> Name	Building	<u>Assignment</u>	Effective	Rate	<u>Hours</u>	Not to Exceed
Mundy	Christine	Nassakeag	Clerical for Summer Reading Program	7/1/19 - 7/25/19	\$14.00/hr	45	\$630.00
Buscemi	Susan	Nassakeag	SEA for Summer Reading Program	7/1/19 - 7/25/19	\$17.00/hr.	45	\$765.00
Hughes	Annmarie	Nassakeag	SEA for Summer Reading Program	7/1/19 - 7/25/19	\$17.00/hr.	45	\$765.00
Jacobus	Susan	Nassakeag	SEA for Summer Reading Program	7/1/19 - 7/25/19	\$17.00/hr.	45	\$765.00
Quinn	Jennifer	Nassakeag	SEA for Summer Reading Program	7/1/19 - 7/25/19	\$17.00/hr.	45	\$765.00
Reinhart- Fitzpatrick	Christine	Nassakeag	SEA for Summer Reading Program	7/1/19 - 7/25/19	\$17.00/hr.	45	\$765.00
Robins	Donna	Nassakeag	SEA for Summer Reading Program	7/1/19 - 7/25/19	\$17.00/hr.	45	\$765.00
Soucy	Elisa	Nassakeag	SEA for Summer Reading Program	7/1/19 - 7/25/19	\$17.00/hr.	45	\$765.00
Trombino	Kayla	Nassakeag	SEA for Summer Reading Program	7/1/19 - 7/25/19	\$17.00/hr.	45	\$765.00

AMENDMENTS/REVISION

Clerical

Balducci, Lisa

Status: 10.5 month Office Assistant Amendment/Revision: Salary Date of BOE Approval: June 5, 2019

Ms. Balducci was approved on June 5, 2019 as a 10.5 month Office Assistant. Her salary effective 8/26/19 is \$37,736 (prorated).

Pesce-Serratore, Angela

Status: 12 month Office Assistant Amendment/Revision: Salary Date of BOE Approval: June 5, 2019

Ms. Pesce-Serratore was approved on June 5, 2019 as a 12 month Office Assistant. Her salary effective 7/1/19 is \$43,130.

On motion by Mr. Komreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education, Sub-Committee and Accommodation 504 Plan Meetings of: April 3, 10, 11, 15, May 7, 8, 9, 10, 15, 20, 22, 29, 30 and June 4, 2019

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: March 28, May 7, 8, 14, 16, 22, 29, Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

June 6 and 12, 2019

INFORMATIONAL ITEMS OF INTEREST

There were no Informational Items of Interest.

PUBLIC PARTICIPATION There was no Public Participation at this time.

ADJOURNMENT

There being no further business to be conducted, motion was made by Dr. Kerman,, seconded by Mrs. Gische, and carried by a 7-0-0 vote to adjourn the meeting at 9:05~p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk